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ABHINAY MATHS CLASSES

RATIO & PROPORTION

a:b::2:3,b:c::4:5.finda:b:c.

(a) 8:12:15 (b)) 4:3:5

(c) 4:6:9 d 2:4:7
a:b::2:3,b:c::4:1,c:d::2:5
finda:b:c:d.

(a) 14:8:9:7 (b)) 17:24:7:14

(c) 16:24:6:15 (d 19:25:8:17
a:b::2:1,b:c::3:2,¢c:d::3:4,d:e::5:2
finda:b:c:d:e.

(a) 60:30:15:44:17

(b) 80:40:15:20:19

(c) 90:45:30:40:16

(d 77:15:19:20:16

A man divided his property so that his son's share to
his wife's and wife's share to his wife's and wife's

share to his daughter's are both as in the ratio 3 : 1. If

the daughters get T 10,000 less than son, the value
(in rupees) of the whole property is :

T IEH A SO gt i ST el a3

T 39 gHR i T SR el & e

ST d Tt TR O F fee 1 ergum 3
é‘mﬁgsﬂ%‘lgaa?loooowﬁm%m
gt fRat T «fi?
(a) 16,250 (b) 16,000
(c) 18,200 (d) ?17000_'__

The ratio oanndBlsZ 3andtherat100fB andC
is4:5.Then find A?2:B?:BC.q .

A 3R B =1 3E9E 2 : 3%?[211
4:5 B A1 A2 B2 chnﬁw@m?

() 15:20:25 (b) N8 :24:32
©) 16:36:45 (d) 9:18:27
Ifa:b= 21b —-gi dd:e= i3 th
CUT T T 14 T T 0 s T

a:b:c:dis
(@) 4:6%7:9: (b) 16:24:30:35
(c) 8: 15:7 (d 30:35:24:16

a:(b®e)y:1:3
c:(a+tb)::5:7
findb:(a+c)="?
(@ 1:2 b)) 2:1
() 3:2 d 5:3
If @A) x:y::5:2, then (79)

3 3

-y _

(l) x +y 7?

10.

11.

12.

13.

117

@ 33 (b)

129

©) o

Xt —xy+)°
L A A
X +xy+y

@ 5
© o
(i) 3

@5

(d)

(6)

(d)

(b)

(d)

(b)
(d)

If(a+b)y:(b+c):(cta):
&a+b+c=30thenfindc="7

@) 16
@) 15

(b)
(d)

If(a+b)y:(bt+c):(cta):
&a+b+c=14thenfindc="?

() 4
) 8

(b)
(d)

114
132

168
135

19
39

15
23

18
29

19
29

4

Can't be determined
:4:7:9

17
18

16:7:8

6
7

If@AR)a:b:3:4 &b:c:4:7.

at+b+c

then (qd) ——— = ?
c

(a 1
(c) 3

If () (4x% — 3%) - (2x% +5)%) =12 :19

then (A) x : y="7?
(a) 1:2
(c) 4:5

(b)
(d)

(b)
(d)

If(trﬁ{)Qz%&

2
4

4:3
3:2
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ABHINAY MATHS CLASSES

Q-p) Q-9 :(Q-r)::17:5:8, 21. The mean proportional between 45 and a certain num-
then (FF) p:q:r="2 ber is three times thej mean proportional between 5
@ 16:19:21 b) 7:8:5 and 22. The number is :
a 219 8 N ; ; .
19 - hs 45 AR U TAfv=a Fen w1 9, 2 gens
() 14:19:21 (d 13:25:22 i A 3
5 ? AT 2 qfo=a
14. Inatriangle ABC, (s —a):(s—b):(s—c)::11 ", % ; = 3 TR AR
. o A 1 7
7 where s is semi perimeter.
b d (a) 24 (b) 49
a, b, c are sides © 22 @ 9
find the ratioof a : b : ¢ 22. If the mean proportional between Xqand Y is n times
ﬁl“ﬂ?l ABC H, (s—a):(s—b):(s—c)::11:8:7 the third proportional, then the ratlo X Y will be :
W&l s STGUET & TN G 4, b, c & W a:b:c? X&?RYWHWWW T %7 3 AT 7
(@ 7:8:11 (b)y 14:17:19 GE] Xa1|< Y &1 ST Wl%m
(¢) 15:18:19 (d 9:13:21 (@ n:l (b) 12
15. If (IR (x—y+z):(y—z+2w):2x+z-w)=2: () n:1 N @) 1
3:5, then (G9) (3x+3z-2w):w=? g 2x+3y
then_!\ﬂ'&l) 3x 2y :
(a 7:1 (b)y 4:3
() 9:1 (d 8:1 (® 0
16. What is the mean proportional of @ 1
— 2, 32
3442,12-432 , then (T4@) 2+b2—?
) a —b
34+/2,12 — +f32 1 WeATIAW O ERN?
5
(@ 4-22 ) 247 ® 33
© 245 @ 6 s
17. What is the mean proportional of (d) 7
(15+~/200) and (27-+/648)2 2a+3c+5e _,
(A then(®) 5 30+ 57
(15++/200) e (27~ /648 ) 1 HearEgEIel e @2
\ © 3
(a) 4 : @ 5 ® 3
18. © 3 @ 3
a ¢ e
26. If (AR) —=—=—=4 then (T
( b d 7 ()
ma+nc+ pe
mb+nd + pf
(@ 1 (b)
(b) 1 () 3 @ 4
- () xiry? 2 2 2
19. What is the fourth proportional of 18, 24, 30. (i) mZZ * ncclz * pjz =9
mb” +nd” + p
7
18, 24, 30 ST FGLTITA FIT T2 @ 10 ®) 16
(a) 60 (b) 89 © 20 @ 18
(c) 54 (d 40
2 2 2
20. What s the fourth proportional of x* —12, x +y,x —y. (iff) matnctpe ,
2 2 2 :
x2—3% x +y, x —y 1 AGLTURIT T FAM? 1171b+nd+pf o 4
@ 0 ®) 2 E:; 8 Edi 16
(¢) 1 (d 4
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ABHINAY MATHS CLASSES

.. a ¢ 3 ~ 1Ba-11lc _ o 34. The ratio of milk and water in a pot is 2 : 5. If 14 /
27, If(9=) b - d - 9 then () 136 —111d water is added, then the ratio becomes 1 : 3. Find the
initial quantity of milk.
(a) % (b) % T A H g SR U 1 SEuE 2 ;5 21 e
14 T 9t AR 1 feam e 1 : 3w T,
© 2 @ > Ty gy T A fEa ofi?
2 (@) 14 litre () 20 litre
28. If (A) a, b,c> 0, then (TH) (©) 28 litre (d) 24 litre
a b c 35. The ratio of milk and water in a péfyis 2 : 3. If we
btc c+a a+bh ? added 5/ milk and 5/ water theff the ratio becomes
3 : 4. How much quantity of to;al mixture was present
3 initially? .
@ 5 ® 3 @aﬁqngaai‘r{m"-ﬂﬁ%‘rm@mz
© - @ 3
75 3
29. If () a, b,c > 0, then (a9) 7 (& 10liwe
b (d) 8litre
a c
b = b = b =7? 36. ilk and water in a pot is 1 : 3. If we
arbre arbrc arbtc Ik and 9/ water then the ratio becomes
5 1 w much quantity of total mixture was present
@ 3 ®) ot
) TR § 9 SIR O TSI 1 ;3 B T 9
© 3 @ 3 T 3R 9 TR IF = fEm @ e o
3 T, @ U ¥ e fago R e
30. If (AR) a, b, c>0, then (T) , = .
(a) 6litre (b) 24 litre
a __ b __ ¢ _ () 12 litre (d) 10 litre
Jatbte a+lbte a+b+le The ratio of milk and water ina potis 5: 7 . If we add 5/
@ 2 (b) 1 milk and 5/ water then ratio becomes 3 : 4. Find the ini-
© -1 @ 0 tial quantity of milk.
3. If(AR) Y _YFX_X UF o H Y 3R qHT TSI S 7 B3 S
@ 504 154 AR 5 19 e @ S 3 ;4 81 S R
© 4:2:3 e H ge w1 A fRe o 2
(a) Slitre (b) 10 litre
2. 1f@Ek) L (c) 25 litre (d) 15 litre
q 38. The ratio of milk and water in a pot in 2 : 3. If we
Pq subtracted 3/ water then ratio become 5: 7. Find the
(a) s initial quantity of milk.
TH WA H g AR U T SE9E 23 71 AR
T 3 etex it Freprer faan @t g 5 ¢ 7 B S
_ 21 gReT ¥ g4 T A Rt oft
3 € H g ferat eft 2
33. The ratio of milk and water in a pot is 3 : 4. If 3/ (a) 30 litre (b) 15 litre
water is added, then the ratio becomes 3 : 5. Find the () 35 litre ) 10 litre
initial quantity of milk.
s T Ty - D 3.4 % T 39. Theratio of twonumberis 1 :2.1f 7 is added in both
Tﬂ‘ﬁzﬁi L SR : number then ratio become 3 : 5 . Then find these
3 witex T 541 d1 9= U 3 S8 T number.
1 i 3 ferat ot? < 5 _ g
IR S 2?[ A TS w1 IR 1:2 %1 IE wEems ¥ 7
(@) 8litre (®) > litre Srg femn war @ A U3 ;S @ S 21 S
(c) 9 litre (d) 12 litre s e ;
HEAU 1 B
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ABHINAY MATHS CLASSES

40.

(a) 7,14 (b) 21,42

(c) 14,28 (d) 8,40

Two number are in the ratio of 3 and 5. If 9 is
substracted from both then ratio become 12 : 23.
Then number is?

2 Hemt 3 3R 5 & ST H 21 A ¥ F 9 s

TS Ul H ofesh HAR oISiohal ohi S 31 ST 1 : 2
1 2 e 3 2 oRefR ol T S F e 1 : 3
& T Y | fEe dew-astea 92

@) 816 b) 4,8

(c) 2,4 (d 3,6

AP, o RS | 46. My grandfather was 8 times older than me 16 years
STl @1 @ ST 12 : 23 B S E @ wemnst ago. He would be 3 times of my age, 8 years from
ELIEY) now. Eight years ago, what was the ratio of my age to
(a) 36. 60 (b) 33.55 that of my grandfather"
© 30,50 ) 24,40 16 Ier et WL SRS F1 SRR
41. Find the number that must be added to the terms of ol o7 '{q 8 W ST 9% ?ﬁ; “erhl o W 8
the ratio 7 and 13 to make it equal to 2 : 3. |E qed " AN TR | @ o =1 AFEE S
a‘lmﬂ73ﬁxna§a‘ﬁﬁﬁ%lwmﬁn T’
ﬁ%lm%la}i@ o9 3 9w 2 @ 3:8 1:5
wWio :])"H‘] LG '} bl
R () 1:2 None
@ 5 b) 7 47. The income of A B\.gre in the ratio 3 : 5 and their
expenses are m‘fh% ratlo 1:5.Ifeach saves Rs. 100 then
© 4 d 6 find their m{(ﬁ‘ﬁ”&»
42. Find the numb.er that must be subtr.acted from the A 3?R B%ﬁh T A3 ¢ 5 2| 91 TAF == T
t?rmls off.lle ratl(‘) 15 and\19 to makel itequalto 3 : 4. . 5 3 ofz 3 (Y&F) 100 % TER
T HEAE 15 3R 19 F IAE ¥ T 1 A qé&ﬁaﬁﬂmw*
ST fo ST 3: 4% W2 (120, 200 (b) 300, 500
(a) 2 (b 3 & w”(r;? 180, 300 (d) 150,250
(c) 4 d 5 Y| 3‘482\ The income of A and B are in the ratio 5 : 3 and their
43. There are officer and Assistant in an office. If 15 Aﬁmi‘. %  expenses are in the ratio 9 : 5. If both saves respec-
sistant went on leave then every Assistant has tw :::‘}’ thCly Rs. 1300 and Rs. 900, then find their income.
officers, after that 45 officers went on leaye f‘ip\w;*-' A 3R BT & F1 U 5: 321 SAF @H H
everonfﬁcer has 5 A;smtants l"fhen ﬁnd&’@}i@w I ¢ 5 21 Afz M FH: 1300 F 3T 900
many s51st;nt were there nitially. Vo ’2; . 3 _% @ 2R 3 e == _%?
T SEEH e o st g{”‘ﬂ’ ES (@) 4500, 2700 (b) 4000, 2400
FR W IWOE A TEAE 3 g F fm 2 () 5000, 3000 (d) 1000, 600
I 7 E 2 T AR 45 - ?T@l ST € 49. The income of A and B are in the ratio 5 : 7 and their
AN @ TAF ATFER B Fwﬁf j afedz €, @ expenses are in the ratio 9: 11. If A saves Rs. 1200 and
EATT o frad m@f‘? B saves Rs. 2000 then find their income.
@ 30 %) 40 A SR B 3T &1 3F9E 5: 78 A% @H H
(c) 25 '1\ (d) 35 AU 9: 11 &1 A A, 1200 F. q€1 B, 2000 %.
(-, 3 T
44. The ratio of numbef'&sfballs inbagspand gis2:3. T 1A F e E?
Five balls are, takgn from bag ¢ and are dropped in (a) 3000, 4200 (b) 2500, 3500
bag p. Numh alls are equal in each bag now. (c) 4000, 5600 (d) 4500, 6300
Find the ni%_rfber)of balls in each bag now. 50. PandQearnintheratio?2: 1. They spend in the ratio
aTIp W ‘g’ﬂ*ﬁ?’f ! HEAT HT SHIM 2 : 3 219 5 : 3 and save in the ratio 4 : 1. Find the monthly
q o qrg -ﬁ A EEAmE T aq-r 4 =9 24 2@ i income of each if the total monthly savings of both P
%ﬂﬁﬁﬂaﬁmw%lmﬁﬂnﬁﬁaﬁ and Q together is T 50007
. PARQ,2:1 H IUEH FHAEI A5 : 3 F
TH HWE a4 : 1 H 5= A g A P 3R
(a) 45 (b) 20 2
© 30 @ 25 Q&I He ==d T 5000 B YAF Hi HIEH A4
1 B2
45. Ina party the ratio number of boys and girlsarein 1 : 2. 14 b1
If two boys and two girls went out then it ratio became 1 : @ 000, 7000 (b) 10000, 5000
3. How many boys and girls were present initially. (c) 2000, 1000 (d) 8000, 4000
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51. In an examination, the number of those who passed 55. The total number of students in a school was 660.
and the number of those who failed were in the ratio The ratio of number of boys and girls was 13 : 9.
25 : 4. If 5 more had appeared and the number of After some days, 30 girls joined the school and some
failures were 2 less than earlier, the ratio of students boys left. The new ratio of number of boys and girls
who passed to the number of students who failed became 6 : 5. Find the number of boys who left the
would have been 22 : 3. Find the total number who school.
appear;: at tge examlr\latlon\.. . - E 5 o frenfal =1 T@m 660 o . .

\,Eﬁ&ﬂ ?ﬁ? o E_é'z;&?fz 3R TEfRAl HT HE@N F AW 13 : 9 ol FHD
Al T I 25 ¢
st 3 e & B 2‘ﬁ4£' ;ﬂ fat w30 wefFAl 3 3R fawmem o waw femn sik
%gﬁ?ﬁ&; bl 3 2 e & mswsﬂlmswhmﬁmaﬂ{.@mﬁ.ﬁm
2 %H ; g AU 22 | 5l
: e 0t A T A A e s o (e s e
S A HT & - _;ﬁ
(a) 50
(a) 145 (b)y 150 © 30
(¢) 155 (d) 180 €
o 56. 180 is to be divided ameng 66 persons (men and
52. In an examination, the number of those who passed 2
. . . women). The ratio Of the total amount of money re-
and the number of those who failed were in the ratio
. ceived by men and® en is 5 : 4. But the ratio of
4: 1.1f 35 less had appeared and the number of fail-
. . the money recéﬁfﬁ%by each man and woman is 3 : 2.
ures were 9 more than earlier, the ratio of students
. Find the nqrﬁbgr’@f men.
who passed to the number of students who failed
would have been 2 : 1. Find the total number who 3180 %&@{S%ql 3R wfgemed ® =ie mm g
appeared at the examination. W;%% ELiif el afer qen wfgenst w1
foreht often o 3ol 29 arer wdeanfe = gen ﬁ?é‘%\\ el R *1 U 5 : 4 T A TH
ST B atel qhente e 4 T ot Al W@qﬁmmﬁﬁmﬁnﬁwaﬂm
Thenfefai =1 §Em Yed ¥ 35 %9 el 3R gﬂz%wa}g{;q‘fﬁq@namam
aﬁdaﬁwaﬁm9a{wwﬁmwfﬂ%) 20 b) 24
T AT Tl ST B ATt TheeE § 2 L L ‘(c) 30 d) 36
w1 ST &l & wienfei 1 Hen ET{P X ?57. A sum 0f ¥ 430 has been distributed among 45 people
(a) 155 (b) 158 \ O consisting of men, women and children. The total
(c) 160 (d) 165 amount given to men, women and children are in the

53. The ratio of number of boys to the numbg‘.r oﬁgfls in ratio 12.: 15 : 16. Bl.lt’ the .'«zlrnounts r eceived by e.ach
a school of 432 pupils is 5 : 4. When %Qme B@’W boys man, woman and child are in the ratio 6 05 .‘4. Find,
and girls are admitted, the numberof b boys increase what each man, woman and child receives (in )
by 12 and the ratio of the boyso%_().xgkr%1 changes to T 430 &I 45 TEH, Hfgenst IR T== § =@ie T
7 : 6. Find the number of new zgaﬂ&g itted. 21 Tt W ofeenati 2T 5==i i e 9t
432%%@@@%&@%@?@3&@1 @WWW12215:|6%|WW,
ﬁmaﬂeﬂms %lquww afee &N "= & foed Al ufn w1 sEuE

6 :5 :4 % @ gIF qEu, Afgen R =4 W
e arett afer amst
(a) 12,10,8 (b) 18,15,12
(c) 120,150,160 (d) 60,75,80

58. By an engine the consumption of coal is directly pro-
portional to the square of its velocity. When velocity

54. The nurﬁher of students in three classes are in the is 50 mile/hour then consumption is 100 kg. If cost
ratio 2 : 3 : 5. If 40 students are increased in each of coal is 25paise /kg. and expenditure is 9 Rs./hour
class, the ratio changes to 4 : 5 : 7. Originally, the in second case. Then find the consumption in travel-
total number of students was : ling 250 mile.

@ wmene § w=ui 1 WEA w1 S 2:3:5 B SR EIfd S & §N HIae 1 @9 39 o9
A% JAF Fa F 40 T IR N A W@ T =t F FHEE $1 9@ A 50 s # @ T
ST 4:5:7 Bl ST ARA H et fohae w=t &2 100 farmn. & 21 afe e 1 ®iHa 25 S/,
(a) 100 (b) 180 B 91 599 1 gEd feufa ° @ 9 w9d/se w A
(¢) 200 (d) 400 250 el AN HI @I F B2
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ABHINAY MATHS CLASSES

59.

60.

(a) 325kg. (b) 300 kg.
(¢) 225kg. (d) 270 kg.
The ratio of income of A, Band Cis3:4:5 and
there expenses are in the ratio 4 : 5 : 6. If savings of

A is — of its income. Then find the ratio of their

4

savings.

A,B@IX Ch &4 &1 &i99id 3:4: 521 a9 57
1

TE AT 4: 5 6%i:.%\A31T%3me

aaml%’ﬁl‘mww\’ﬂmwﬁ/

() 12:19:26 (b) 13:20:27

© 19:12:26 d) 14:21:29

The ratio of income of A, Band Cis 7: 9 : 12. The ratio

1
of expenditure is 8 : 9 : 15. If savings of A is Z of its

income. Then the ratio of there savings.

A,B,C! 3@ &1 I 7:9: 12 Bl 91 579

gd onl AT

A B Al TSI A R A e

64.

A #AR B @1 3fq9 A1 q9a 2T 61 T4
9:12%1 AR Bl qde sifa ot sin odam
TR T UG FE: 3: 4304 521 AT A A
1 IAAM A FT A 54000 F F1 Tl A I BT
- SENT TEHE S F1 82

(a) 2400, 3000 (b) 3000, 3600

(c) 24000, 30000 (d) 4200, 5400

The ratio of personal income of A and B of last year
is 12 : 25. The ratio of last year's ingeme and current
year's income of A and B is 4 :#7iand™5 : 2 respec-
tively. The sum of current inc@me of both is Rs.

31000. Then find out A and B's'eurrent income sepa-
rately.

AﬁﬂBﬁﬂﬁlﬁéﬂIﬁqﬁﬂﬁmaﬂa@mlz
25%|A@fr{}3ﬁw§¥=|aaqﬁmémamwmw
TR 5 : 271 A = ZAT w Y
31000 % 1 @ A 3 B

(b) 25000, 7000
(d) 19000, 12000

(}ofA B and Clast year and current yearis 4 : 5,2 : 3,
respec‘uvely If sum of income of A, B, and C is

= s 78800, then find out current income of A, B, and C

(a) 56:69:99 (b) 56:99:69
(€) 69:56:99 (d) 56:99:79 Separz;e;y' - .
61. TheratioofincomeofA,BandCisZ:3:4an‘;.i'fh;g? A.B C . L A O3 : 4 : 5
\ ¥ 21 A,B,CHl s o4 3R ooHE ad # 3E H
ratio of expenditure is 3 : 4 : 5 . Savings of A U FHA: 4:5,2:3,3: 4% A% 39 qHi 1 FauE
its income then find the ratio of their saVl‘n T SR T A T 78800, Tl Tl BT ST
A,B,CH 3T F1 ST 2: 3 S ST T2
) 1 (a) 18000, 28800, 32000
e T ST 3:4: 5% AW ™ F (b) 18000, 28000, 32000
A T A A, B, CH TET dhh S 27 (c) 18800, 28000, 32000
(@) 6:13:20 ) %142 (d) 18000, 28000, 32000
() 13:6:20 (Ii) 20:13:6 66. A bag contains 50p, 25p and 10p coins. The ratio of
. coins is 5 : 9 : 4 and total amount is ¥ 206. Then find
62. The ratlotl(if .sala;y bJrll(e)Zl/ is 135(.)/2 .120)45; they number of coins.
increase their sdlanyiby 10%, 0, 0, 0 Te- e S 5 i
spectively . Find'ut ratio of these income. hsd aTT # 50T, 25 a@’ 107, % W . % aﬁ{
4 9 YT T I 32 1.4 AKA TRl =1 U 5:9:4%1 T T 206 B A T
N o T STONT-STCT HEAT A
AT TR FEA: 10%, 15%, 12%, 20% a@6 @ 20.36.16 ® 150, 150, 80
ﬁ' a‘-’r“-:j‘:":.-"'_ W w azn g:p'n'? a 5 P’ ) >
! (c) 200, 360, 160 (d) 75,180, 160
(a) 165:115:56:24 (b) 155:110:54:24 ) ) )
165 : 156 : 115 : 32 () 115 : 165 : 56 : 24 67. A sum of T 36.90 is made up of 180 coins which are
© ’ ’ 329 ’ T either 10 paise coins or 25 paise coins. Find the num-
63. The ratio of personal income of A and B of last year ber of 10 paise coins.
is 9 : 12. The ratio of last year's income and current 736.90F TF A 10 T8 3R 25 99 = 180
year's income of A and Bis 3 : 4 and 4 : 5 respec- fog ¥ dr 10 Y8 3 fogE = w5en 99 w7
tively. The sum of current income of both is Rs.
54000. Then find out A and B's current income sepa- (@ 30 (b) 52
rately. (c) 51 (d) 54
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68.

69.

70.

A bag contains Rs. 180. In which Rs. 1, 50p, 25p
coins . Their ratio are 2 : 3 : 4. Then find number of
all types of coins separately.

% W H 180%. ¢ fIEH 1%, 50 W AR5 THE
fags 81 o971 oUM 2:3: 4% 9t W =
Tl & Iem-oTeT HEm 9| H 2

(a) 40, 60, 80 (b) 160, 120, 180

(¢) 80,120, 160 (d) 80,120, 150

A box contains Rs. 56 of Rs. 1, 50p and 25p. The
number of 50p coins is double of 25p coins and 4

times of Rs. 1 coins. Then what is the number of 50p
coins?

w fest ® 56%. 21 formd 1,50 TR 2599 =+
foe 150 YW fgmeni =1 wem, 25 Y figeni
% T ¥ 2 T 3R 15 @ o w9 wen @
4 T B S0 T TRl w1 WE w8

(a) 12 (b) 64

(¢) 128 (d) 60

A bag contain 378 coins, Rs. 1, 50P and 25P. The
ratio of there value is 13 : 11 : 7. Then find the num-
ber of 50 P coins.

TF AT H 1 T, 50 99 3R 25 THE 378 foww
21 399 WAl T SAIE 13: 11781 @ so T F
o fa 272

74.

75.
i cornq The saving ratlo of there is 20 : 9 : 8 . The total

ﬂ:lr'hzrtﬁ'jjﬁm—.rrmﬂ q11=|:rr'.n‘r:l.—r :n:n'n:rl 2:3:4
L

2| fa@1 =1 F19q AEAed & 91 % ST
f&e1 224 W 700 % &1 THEE g °@ foad w1 g
A 1 di?

(a) 10000 (b) 5000

(c) 1000 (d) 900

The cost of the plyboard varies directly with square
of its weight. Plyboard is broken into 3 parts whose
weight are in the ratio 9 : 2 : 1. If plyboard had been
broken into three part whose weight,are’in the ratio 7
: 3 : 2 then there would have beemya further loss of I
448. What is the actual cosgof original plyboard?

T e Y FH TR ot % ST
%l‘ﬂﬁﬁmﬁwﬁ;m%mﬁmm
I 9 : 2 VAR wmE a7 :3 :2
mgtrmaﬁm mﬁmm?msaﬁaﬁﬁaﬁ
mﬁmﬁlﬁﬁ@@ﬁaﬁmmww
(a) (b) 2688

(d 928

: wint of there income are Rs. 45000. Then there in-

,B, C T T&Ht ST+ 31 &1 75%, 70%, 80%
w4 FIE 21 TAH] FEd H I 20: 9 : 8 B

(a) 132 (b) 130 . R
© 6l A 65 TTRI S T HE AN 45000 T. &1 AqOZARI
. '\‘?
71. A bag contains 480 coins of 50p, 25p, 10p,and the RIS
ratio of their value is 5 : 3 : 1. How maJé (a) 24000, 9000, 12000
these three type" - (b) 12000, 4500, 6000
(c) 48000, 18000, 24000
(d) None of these / STH & 1 &I
76. The sum of income of A, B, C are Rs. 30000. A, B,
@) 75,90,75 and C spend 75%, 70% and 62% of their income. If
©) 10;) 9’9 75 their savings are in ratio 20 : 21 : 19. Then what are
T N their salary?
72. A diamond broke 1ntoﬂ_%:{\.eepart the ratio of weight of A.B,CH & #1 w1 2T 30000 B, %IA, B, C
ST 3T HT FHA: 75%, 70% 3R 62% T4 HTd
21 A% ST == 1 S 20: 21 : 19 A1 T
3 T 27
(a) 12000, 10500, 7500
3. 4%tﬁimﬁmmwéaﬂﬁ (b) 12000, 10000, 8000
aqwqqﬁ’r 21 gfz 3 € z=4 | T 52000 F1 (c) 10000, 12000, 8000
THEH T TR HI JA HIHG F7 A7 (d) 8000, 16000, 6000
(a) 80000 (b) 50000 77. There are 3 types of expenditure in a car. Ist raw
(c) 60000 (d) 81000 material, IInd labour expenditure, I1Ird is extra
73. A heart is broken is number of feelings 1:2:3 : 4. expenditure. The ratio of these expenditure are 4:3:2.
. . o .
The cost of heart is directly proportional to the square .If Ist exp endtture 1S 1ncr.eased by IOA]’OHnd. 15
of number of feelings. There is loss of Rs. 700 on increased by 8% and Illrd is decreased by 5%. Find
broken heart. Find the initial cost of the heart? the percentage change in price of car.
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78.

79.

80.

TF HR 94H | 3 YR & @ 2id ¢, Teall FHedl
WM, 3 HeE @, d90 o @bl 3 @
FT 3 4:3:2 ¥ Ted A @ 10% FE Sl
2 gEU A 8% WG WAl § a1 A6y 5% FH &
T A FR F EA FEG W F T TSN

(a) 4% b)) 2%

() 3% (d 6%

On the whole surface of earth the ratio of land and water
is 1 : 2. The land and water in northern hemisphere is

ratio 2 : 3. Then what is the ratio of land and water in
southern hemisphere.
oo} geft w3 gfy 1:2%
SO 7g Mg W e U 2: 3 71 Al it
3E Meng W T8 S fRa g

(a 4:11 (b) 11:4

(c) 5:12 d 4:7

On the whole surface of earth the ratio of land and water
is 1 : 2. The land and water in northern hemisphere is
ratio 3 : 4. Then what is the ratio of land and water in
southern hemisphere.

oo geat W gfF @R g 1 eTuE 1:2 @)
I e § A U3 4 A ol verg o
foam gmm?

(a) 5:16 b)) 4:11

(c) 5:11 d 4:7

x, is inversely proportional to square of y, when &=
4,theny=3.Findx,ify=6
x,yﬁaﬁaéfaﬁqﬂmﬁﬁlalmx:4ﬁ)[y:3.ﬁ)l
x 1 HE 0 B AfE =6

5

AL A S E e Y

83.

84.

85,

© 55000 @ 44000

The sum of Rs. 9900 is divided among A, B and C
such that B gets 2/3 of A and C. C gets 3/8 of A and
B. Then they get separately?

aann v et T=T I B R
9004 T, &I A, B,CH 38 TR 92 T&h B! A
A s TS Y A

(a) 3900, 3300,2700 (b) 3960, 3200, 2740
(c) 3960, 3240,2700 (d) 3900W8200, 2700

The sum of Rs. 56000 is dividedamong A, B, C such
that C gets 4/3 of A and B,whil@A: B=5:7. Then
all three get separately?

il
-l

-

~J
o
§

AL IR AR L C29 AR LI A AN

(a) 10000, 14600, 32000

(b) 10000, 14000, 30000

(c)" 9’80000, 17000, 31000

(d)“930000, 16000, 10000

Theéfsum of Rs. 2920 is divided among A, B and C
such that if A gets Rs. 1 then B gets 80p but B gets
Rs. 1 then C gets Rs. 1.40 . How much C gets more
than B.

2920%. 1 A, B,CH 30 TR =iel 5l € f& ar
A 1% Taerm i B =1 80 T feftt @ifre e
B! 1 % fHerm af C &1 1%. 40 T8 fHefit i B
g T sty faem?

(@ 2 b V2 (a 120 (b) 160
() 1 d 8 (c) 640 (d) 320
81. Ina factory the number of laboiiffdecrease in the ra- | 86. The sum of Rs. 530 is divided among A, B and C
tio 9 : 8 and their salary increaS¢jin'the ratio 14 : 15. such that A gets Rs 70 more than B and B gets Rs. 80
If total wages of one day decreage by Rs. 6000. Then more than C. Then what are there's share
find the present salary ofl"‘_zich-‘day. 530 %. %1 A,B,C ¥ 39 9ER =i T E TR AT
TF FREA ° A, FLHSN 9: 87 FH F A B 70 % fer 9o B CH 80 T Afusk faet|
TE) 3T wfafad HeaweE 14 159 T@1 & T o = 1 3re-erer fewm = 22
afz T wfafa, F e e 6000 % FH 2 (a) 240, 190, 100 (b) 250, 180, 100
T @ aredi_uffem w1 e @ 2? (c) 250, 100, 180 (d) 300, 80, 100
(a) 12{Q61 0 (b) 100000 87. The sum of Rs. 2495 is divided among A, B and C
(©) 160 00’ (d) 120000 such that if we dicrease Rs. 15 of share A, Rs. 30 of
82. Inaoffice the number of officer decrease 11 : 9. There share B and Rs. 50 of share C. Then the ratio become 3
daily wages increase 12 : 19. Then the total wages :2:7. What are the share of A, B and C.
increase of one day is Rs. 19500. Then what was the 2495 F. & A,B,C T 39 YR e 9 T a4fg
starting wages. AF AMH [5E AN BH 9T H 30%. 00 CH
U I H SATEER F OGS 11:9H FH wW I ¥ 50 T FH X 54 9 g1 Al ST ST
& T It wfafeT weigd 12 19§ e & W) 3:2:7% W 21 A, B, C %1 STem-37e feem
F Hiafed 7SEd H 19500 % 98 M| AW H w87
Fel worgd Tt efi? (a) 615,430,1450  (b) 620, 435, 1425
(a) 66000 (b) 60000 (©) 600, 400, 140 (d) 620, 420, 1400
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88.

89.

90.

91.

The sum of Rs. 500 is divided among A, B and C
such that Rs. 16 is more than 2/5 of A's share, Rs. 70
is less than 3/4 of B's share and Rs. 4 is less than 3/5
of C's share they are equal. Then what are the share
of A, B C.

NEFAANCH T 3
A 9rT e 21 A A, B, C 1 IR 4 22
(a) 160, 200, 140 (b) 150,200, 150

(¢) 140, 190, 170 (d) 100, 150, 250

The sum of Rs. 600 is divided in A, B and C such
that Rs. 40 is more than 2/5 of A's, Rs. 20 is more
than 2/7 of B's and Rs. 10 is more than 9/17 of C's

share, they are equal. Then what is the share of A, B,
C respectively.

3/59m 3 -

= = o
V.WTm, 1

T600 FAB,CHEART T AT 3 T 40 T e,

2 9
B_eﬁ7 uvn*&mﬁ‘maﬁ T 10 % s

WQMWW%??IA B, C Rl SToW-370T oee
1 7

(a) 140, 240, 190
(¢) 150,280, 170

(b)
(d)

170, 260, 170
100, 330, 170 4

The sum of Rs. 1500 are divide in A, B and C suc S

that Rs. 40 is more than 2/5 of A's, Rs. SQ 1smore
than 3/10 of B's and Rs. 75 is more than 5/24 ofiC's

share, they are equal. Then what are the S| i‘e of A,
B, C. .

(b) 500, 600, 400

(c) 400, 500 (d) 450,550, 500

)
A person trayell d 2560 km partly by aeroplane,
partly by and rest by car. The time taken by

ney, ip and car are in the ratio 1 : 4 : 5 and
the ratio ofaverage speed by all three meansis 20 : 1
: 8. If average speed in whole trip is 64 km/hr then

92.

SR 20 : 1 : § B AR G A H HHA A 64
o T T W R T ®I T 0 A e
(a) 10 km/hr, 16 hr, 160 km
(b) 20 km/hr, 12 hr, 150 km
(¢c) 30 km/hr, 18 hr, 140 km
(d) 23 km/hr, 17 hr, 120 km
An electric train is going with the speed 40 km/hr

and its electric power is thrice of frietion force. When
electric power is twice then due teiany réason its fric-

tion force becomes 15 tlmes-':Fmd its current speed.

fa'qaaﬁ 40 Forei. ﬁ'nﬁm ERGE RO

= L1 3,
ST m@mq -zncm T 91 o qH el o

(d) 40 kmv/hr

_Between two railway staions the fare of 1%, 2™ and
3 ¢class are in the ratio 8 : 6 : 3. But later on the fare

1
and 2 re-

spectively. In one year the no. of passengers of 1%,
2" and 3" class are in the ratio for 4 : 9 : 24. If total
tickets amounting I 355600 are sold then find the
fare of all 3" class.

2 o = # A e, i SR g et
% fFd 58 : 6 : 3 1 UM A1 WG 9K H

um%am%ﬁa%@ﬁr&ﬁm:%

1
of 1% and 2" class is decreased by g

‘HTJT?MTE T Ht T FX G O TE Y o

gore, fadr den gaa afve & wif &1 9o o
4 :9 :24 F1 UG o1 A TH LIA W HA
% 355600 % Teme fas &1 a1 7 Hifeg o ded
guit § e fwaen g foean T2
(a) 6400 (b) 170800
(c) 18800 (d) 172800

find the speed of ship, time taken by ship and dis- | 94. 1In an election a voter can vote for 2 candidates at a
tance travelled by ship. time. Half of the voters give their 1* vote to candi-
U S | 2560 fFHL F HA T OH BB 9 date A and the 2nd vote to candidate B, C and D in
< e 3 . . 1 1 st
A R e o e L e ratio 3 : 2 : 1. H.alf of the rest voters give Fhelr 1
= = i vote to B and their 2™ vote to C and D inratio 2 : 1.
El:":l e \5“3 T, ST 491 I 8T Tﬁg RLEL Half of the rest of the voters give their 1% vote to C
4 fod ™ mma SAAE 1 : 4 : 5 € qAA A and D inratio 1 : 1. 840 voters do not cast their vote.
et § wEm B T 9eE = eimd nfaa =5 Find the number of votes each candidate got.
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9s.

96.

97.

wwﬁummmmmeﬁmﬁmm
Q"ll 6| d'll‘ﬂ HasIdal AQhE Hd f\ﬁ a4 ‘i\{'l'il Hd ‘3|
B,CA DI 3:2: 1% 39 | 34 21 ar!

Haemarett § F o Bl Hq <4 & IR 79 g5y
HA A 2: 1% A § C 3R D %d €1 9t o
Hagmare § | 29 C 3R D %1 9HE ®9 ¥ Ha 39
& AU THTAT 840 HA ST HA LT &9 F1 A
wFifsre foF yok SHqaR &1 fhar- oo 7a
gu?
(a)
(b)

3360, 3360, 308, 1960

3000, 3100, 3080, 1960

(c) 3360, 3200, 1100, 1800

(d) 3160, 3000, 1000, 1100

A person spend 1/3" of his income on food, clothes
and education in the ratio 3 : 2 : 4. He spent 2/5 part
of his income on transport and entertainment in the
ratio 4 : 5 and he deposit ¥ 2700 in the bank then

find the amount which is spent on food, clothes and
transport.

et =afaa =1 foaet oft o 2 su o -faeid
T FE 3:2: 47 STUM W FHAN: WSH, T 3N
foren W @ FI@ | S FT 2/5 9 B AAR
T FARSH T HAY: 4:5%F I H @H FA | o

& e 9 T2700 9 dF H T A 8 G

aﬁh@ﬁaﬁﬂﬁmaﬁamwmﬁgff

o 98 Td w27
(@) 3675
(c) 3800

(b) 3600

1
2 ¥
4. Who gained in the transfcﬂoﬁ*& by how much?

%117 A, BTN cﬁ’ aﬁaqgcrmﬁam

?«34
wmmwﬁg@#z 3:4 % WA | arer
@@Eﬁmm sifersk @

T T TER
T of gy 32

(@) A, ?@% =3 (b) B,%3
© C‘L ;@‘J d C,T25

If 64 is d1v1ded into the ratio of 2, 4, x and smallest

part is 10%.Findx.
A 64 H1 2, 4, xTF AW | famiaa fwan s

aﬁiﬂa@@aﬁwm%zﬁﬁxaﬂm%—

(a) 5% (b) 6

dﬁﬁ{

98.

99.

1(16

101.

2

A person divides a sum to all four sons A, B, C and D
in the ratio 2 : 3 : 4 : 5 and he divide double amount
of previous to all sons in the ratio 9 : 8 : 7: 6. Who
will receive minimum amount?

uF =l 39 =R YA A, B, C 3R D# o= U
T T 2:3:4: 5% STIIA | FieT a2 IHA A
r@mﬁaﬁ—q’m 9:8: 7_:.6%'“31"[‘41?!‘9'

@ 20

32186 is divided into I\{k;N and P such that if 326,

328 and 332 are subradteds 7fYom the share of M, N
and P then ratio offtheig share becomes 9: 13 : 8.
Find the share of M}\ ;}

32186 M,ﬁﬁ% P% it 9 TR At S

2 f af ﬁ’ﬁ@ H § 26,3287 T32FH

mﬁ@ﬁmr@9 13:8F T ¥ 575
W%IMW‘TW@WWW%7

(b) 640

(d 672

&ween two railway station the ratio of fare of 1% and

b‘ nd class was 10 : 7 and later on the fare is increased in

the ratio 3 : 4 and 5 : 9 respectively. If the ratio of no.
of passengers of both tier is 3 : 5 and total fare is
30900 then find the total fare of 2™ tier.

3 tod BYHl & W9 vem awn fgdm gt ®
@ & &= 10 : 7 F UG O 79 ] H
PR A FAT: 3 : 43R5 : 9 F U # Ifg
@ Az = <A 4§ amn #w S A

5 I | B @ F£A < 30900 A F €T

e B 21 fgdm goft 9 wme e R wre
gu?

@) T 18900 (b) 19400

) 20200 @ T 17300

The ratio of the first and second class train fares be-
tween two stations is 3 : 1 and that of the numbers of
passengers travelling between the two stations by first
and second classes is 1 : 50. If on a particular day, I
1,325 is collected from passengers travelling between
the two stations then the amount collected from the
second class passengers is :

& WAl % a9 fRd 29 = gum it afw fgdra
Gt o Rt 1 oA 3 ¢ 1 Bl R 3 ReEf
& " wem 9ot iR fadia gl § amn w
A AR w1 3 1 50 1 Aty e fae
e =t @ e T 1,325 59 B 2 ar fada
gt % AT | W o= w2
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(a) 1,250 (b) < 1,000 GUd 5 ;3§ U2 Wl ¢ ol 39 fed surefa
(c) 850 (d 750 gIEl H GEn 7 &4

102. The ratio of the first and second class fares between (a 3 (b) 6
two railway stations is 4 : 1 and that of the number of (c) 8 (d 9

103.

104.

105.

passengers travelling by first and second classes is 1 :
40. If on a specific day ¥ 1,100 is collected as total
fare, the amount collected from the first class passen-
gers is :

J—-"‘—J—-J—I‘——"\"‘—.A-.\—L‘._Q.. T A
Sl 24l o0 "™ Ishdl 9\'1 h AU It 18014
goft & U &1 3 4 2 1 81 SR 3 By

F A" yum 4 R fgda gfen ® A s
aret At F ST 1 ;40 71 Ak R faw
feq anforai | =5e1 31,100 <791 B4 ® A e goft

Cﬁ 2TTI—7F5IT {:l e o4 3’
@@ T315 (b) 275
() T 137.50 d <100

In a factory ratio of number of 3 categories (A, B and
C) of workers is 10 : 7 : 4. If number of workers in
category C is 54 and income of total worker in cat-
egory B is < 1400. Find the total income of workers
of category A.

[N W Y o S L o ¥

WWUABHWCWW?WW

HEE FH: 10:7: 4 3790 # 21 AT CTFR B
WﬁmmmsmmBm?aﬁaﬁa‘@i

i 4?‘0 which an pull by the engine?

1 A 1400 31 ATER & |ff FHHEi mi
a1 72
(a) 2000
() 33600

e

(b) 32400 g

The prime cost of an article is th‘ﬁei: Gﬁg@w material.
If the cost of raw materlal is Lptﬁréésé’d in the ratio

(b) T48
d T96

Some quantity of rice is required for each member of
a family of 15 members. On a particular day, due to
the absence of some members of the family, the con-
sumption of rice was reduced in the ratio 5 : 3. Find
the number of members absent on that day.

TF 15 95 gt ufERr ¥ yod a5e & fau
FD TEc 1 AE1 FI T et 21 fadt faw
& 72 959 F S ® R0 F@a F

106. An engine can move at the speed of 20/3 m/s with-

out any wagon attached and reduction in the speed
of the train is directly proportional to the square root
of the number of wagons attatched to the engine.
When there are 9 wagons attachegl-—.mtg speed is 5 m/
s. The greatest number of wagdn vﬁth which the
engine can move is :

T FrIae 59 @ & 1\’:‘:@5}"’% T 20/3 H./4.

mwﬁwm%hwaﬁﬂﬁfqmﬁa}

Trrer =T T Feaat S = NTe =
R s BN B ||\ |‘\\ ]\3"""“th"[1| \‘l\:"‘l i qF ‘1\' b I \1‘1|\$1|\|1

%l91%a‘:aﬁmmﬂﬁisﬁ/ﬁ 21 ST 2
i ' ﬁ@nmﬁﬁqmm

12
24

(b)
(d)

= "er of wagons. With 4 wagons the speed of engine is
" 20 km/h. Find the number of maximum wagons

TF AEfad 359 @ @ fesl & R 24 fRA.
/HE T Tl G e ¢ 35 H1 T | HH w9
¥ erme T fesal i Wen & aiga & SEeEud
21 4 fesai % w SHFT WA 20 fF./= 21 S
i Tt &7
108. A factory employs skilled workers, unskilled work-
ers and clerks in the porportion 8 : 5 : 1 and the
wages of a skilled worker, an unskilled worker and a
clerk are in the ratio 5 : 2 : 3. When 20 unskilled
workers are employed, the total daily wages of all
amount to < 3180. Find the daily wages paid to each
category of employees.

U e § e, SR HHR S o i
GEme H ST 8 1 5 ¢ 1§ SN IH! Herd
FT I S 22 3 BN TH 20 THIA FIEMR
%1 HH T A S € 99 Hel S Teigd <
3180 B A WoIH A ® W 1 2fTR Hgd
I B2

(a) 2100, 800, 280

(b) 2400, 480, 300

(c) 2400, 600, 180

(d) 2200, 560, 420
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(ANSWER KEY)

1. (2 2. (o) 2. (b 65. (a) 88. (a)
2. (©) 22, (©) 43, (b) 66. (©) 89. (c)
3. (0 23. (o) 4.  (d) 67. (d) 9.  (©
4. (a) 24. () 45.  (b) 68. (o) o (@
5. (o) 25, (o) 46. (b 69. (b) 2. (©
6. (b 26. () (d) 47. () 70.  (a)

7. (a) (i) (b) 48. (b) 7. (b) 2@
8.() (a) i) (b) 9. (a) 72.  (d) . @
Gi) (b) 2. () 50 (a) 3. () % @
(iii)  (c) 28.  (a) 51.  (a) 74. (b 9. (d)
(v) (d) 29. (b 52.  (a) 75. (a) 97.  (b)
9. (d) 30. (b 53. (o) 76.  (a) 98. (b
10.  (b) 3. (¢ 54 (d) 77.  (b) 99.  (c)
11. (b) 32. (a) 55. (©) 78. (a) 100. (a)
12. () 3. (o) 56.  (c) 79.  (a) 0. (@)
13. @) 34. (o) 57.  (a) 80. (o) 02, @
o Ee me e,
. a . C . a . a

16. (b 3. (o) 60. (b) 83. (o) 4. @
17.  (¢) 38.  (a) 6l. (a) 84. (a) 105 ®
8. (a) 39. (o) 62. () 85. (d) 106. (¢)
19.  (d) 40. (b 63. (¢ 86. (b) 107. (¢
20. (¢ 41. (a) 64. (a) 87. (a) 108. ()

gH % B AT Bl HHAT
Hd &l
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